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1) (3:4J
Graph WS 9 (i
2) 16 — 8y =—6x 3) 0=-4-x
1 : 16+ 5x =4y

—x==1+—=
4 37
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3.1b: Solve Systems of Equations Algebraically
Substitution Method

—2x+y=-—10
y=—4x + 8
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x+y=2
2x+y=3
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1) Sx+ 35y

Math Practice:
Substitution WS

20
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Substitution WS

1) (-2.6)
5) No solution
9) (2.-1)




Elimination

(Stack & Add) I

[ 1

41# =2 + 939

+4X +/3y = 3\ 912
By > y(3) -3y = 29
/43 ’ ‘32.4.3 = 29
“32 -

o 2297 Eg///j
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2x+5y =17
x+4y=72

Elimination Method




Math Practice:
EI|m|nat|on WS

)—.—81
2x -9y =




